. &Co

PART #50-1588-00
170 Montauk Forward Shelter

Wm. J. MILLS

SAILMAKERS e AWNINGS e CANVAS

SINCE 1880 e GREENPORT, NY

INSTALLATION HARDWARE part #
2-3" Cleats 25-0180-00
2 —Large Eye Straps 25-2202-00
2 — Side Mount Hinges 25-0369-00
1 — Hold Down Bracket Assembly
Consisting of: 1 Side Mount Hinge 25-0369-00
1 %4 x ¥a- 20 Hinge Screw 25-3048-00
1YaLock Washers 25-1404-00
1 Hold Down Strap 25-0145-00
4-1Y, x #8 Ova Head Screw 25-0303-00
use on cleats
6 — 1 x #10 Oval Head Screws 25-0302-00
use on hinges & hold down bracket
4— ¥4 x #8 Pan Head Screws 25-2266-00
1 Installation Instructions (2 sheets) 50-1588-99
Also available
Console W/ Rod Holders W/ Backrest Cush. Cover 50-1566-00
Console/Cooler Cover 50-1570-00
Console W/O Rod Holders W/ Backrest Cush. Cover 50-1569-00
Reversible Pilot Seat Cover 50-1567-00
Mooring Cover W/O Bow Rail 50-1568-00
Mooring Cover w/ Bow Rail & Side Rails 50-1568-01
Weather Protection
Suntop/Flytop w/ Boot & Stainless Frame 50-1565-00
\Windshield for Mills Top 50-1590-00
Port Side Curtain for Mills Top 50-1590-01
Starboard Side Curtian for Mills Top 50-1590-02
Top Aft Curtain for Mills Top 50-1590-03
\Windshield Connector Kit for Factory Top With Mills Shelter; 50-1589-00

74100 WEST FRONT STREET, PO BOX 2126, GREENPORT, NY 11944
631-477-1500 e www.millscanvas.com e FAX 631-477-1504




Bob MUs, Wn J. Mils & Co3/12/03 906 AMIS6599.dwg

ENTERLINE OF FWD SHELTER HINGE
MOUNT AS FAR INBOARD AS
POSSIBLE ON THE DECK

147.75" WITH 1 #10 SELF TAPPING SCREWS
= = ) ~ O=———o——+F
OUNT SHELTER TO
SIDE HINGES
AND LOCATE THE FwD
HOLD DOWN BRACKET
ON THE CENTERLINE OF
THE BOAT.
AFT OF THE CLEAT.
FASTEN WITH 1“ #10
SELF TAPPING SCREWS
HOLDOWN BRACKET
= = 5 > (= = ~r 3/4 x 1/4-20
- == Machine Screw
FWD SHELTER EYESTRAP
FASTEN W/ #8 X 3/4 SCREWS L INSTALL FWD SHELTER OCKWASHER
2’ OUT FROM INSIDE EDGE CLEAT 2* OUTBOARD FROM
INSIDE EDGE FASTEN WITH
11e” 1 1/4 # 8 SELF TAPPING /1\
SCREW HOLD DOWN STRA ~7
1247

sy WDlemmlww

N e v moes | 170 MONTAUK
FORWARD SHELTER
INSTALLATION INSTRUCTIONS

>

oo =




